# A Class of Multivalent Non-Bazilevič Functions Involving the Cho-Kwon-Srivastava Operator* 

Zhi-Gang Wang ${ }^{\dagger}$<br>Department of Mathematics and Computing Science, Hengyang Normal University, Hengyang 421008, Hunan, P. R. China<br>Heng-Tai Wang ${ }^{\ddagger}$<br>School of Mathematics and Econometrics, Hunan University, Changsha 410082, Hunan, People's Republic of China<br>and<br>Yong Sun ${ }^{\S}$<br>Department of Mathematics, Huaihua University<br>Hunan University, Huaihua 418008,<br>Hunan, People's Republic of China

Received June 28, 2008, Accepted October 11, 2008.

[^0]
#### Abstract

The main purpose of this paper is to derive some new properties for a class of $p$-valent non-Bazilevič functions involving the Cho-KwonSrivastava operator, such results as subordination and superordination properties, convolution properties, coefficient estimates, sufficient conditions for starlikeness and sufficient conditions for functions belonging to this class are obtained.


Keywords and Phrases: Analytic functions, Multivalent functions, NonBazilevič functions, Hadamard product (or convolution), Cho-Kwon-Srivastava operator, Jack's Lemma, Subordination between Analytic functions, Superordination, Starlikeness.

## 1. Introduction

Let $\mathcal{A}_{p}$ denote the class of functions of the form:

$$
\begin{equation*}
f(z)=z^{p}+\sum_{k=1}^{\infty} a_{p+k} z^{p+k} \quad(p \in \mathbb{N}:=\{1,2,3, \ldots\}), \tag{1.1}
\end{equation*}
$$

which are analytic in the open unit disk

$$
\mathbb{U}:=\{z: z \in \mathbb{C} \quad \text { and } \quad|z|<1\} .
$$

For simplicity, we write

$$
\mathcal{A}_{1}=: \mathcal{A}
$$

A function $f \in \mathcal{A}_{p}$ is said to be in the class $\mathcal{S}_{p}^{*}(\varrho)$ of $p$-valent starlike functions of order $\varrho$ in $\mathbb{U}$, if it satisfies the following inequality:

$$
\Re\left(\frac{z f^{\prime}(z)}{f(z)}\right)>\varrho \quad(0 \leqq \varrho<p ; z \in \mathbb{U})
$$

Let $\mathcal{H}[a, n]$ be the class of analytic functions of the form:

$$
F(z)=a+a_{n} z^{n}+a_{n+1} z^{n+1}+\cdots \quad(z \in \mathbb{U})
$$

A function $f \in \mathcal{A}$ is said to be in the class $\mathcal{N}(\mu)$ if it satisfies the following inequality:

$$
\Re\left(f^{\prime}(z)\left(\frac{z}{f(z)}\right)^{1+\mu}\right)>0 \quad(0<\mu<1 ; z \in \mathbb{U})
$$

The function class $\mathcal{N}(\mu)$ was introduced recently by Obradović [5, 6], he called this class to be of non-Bazilevič type. Until now, this class was studied in a direction of finding necessary conditions over $\mu$ that embeds it into the class of univalent functions or its subclasses, which is still an open problem.

In recent years, Obradović and Owa [7], Tuneski and Darus [15], Wang et al. [16] and Shanmugam et al. [10, 12, 13, 14] obtained many interesting results associated with different subclasses of non-Bazilevič functions.

Let $f, g \in \mathcal{A}_{p}$, where $f$ is given by (1.1) and $g$ is defined by

$$
g(z)=z^{p}+\sum_{k=1}^{\infty} b_{p+k} z^{p+k} .
$$

Then the Hadamard product (or convolution) $f * g$ of the functions $f$ and $g$ is defined by

$$
(f * g)(z):=z^{p}+\sum_{k=1}^{\infty} a_{p+k} b_{p+k} z^{p+k}=:(g * f)(z) .
$$

For parameters

$$
a \in \mathbb{R}, \quad c \in \mathbb{R} \backslash \mathbb{Z}_{0}^{-} \quad\left(\mathbb{Z}_{0}^{-}:=\{0,-1,-2, \ldots\}\right)
$$

Saitoh [9] introduced a linear operator:

$$
\mathcal{L}_{p}(a, c): \mathcal{A}_{p} \longrightarrow \mathcal{A}_{p}
$$

defined by

$$
\mathcal{L}_{p}(a, c) f(z)=\phi_{p}(a, c ; z) * f(z) \quad\left(z \in \mathbb{U} ; f \in \mathcal{A}_{p}\right),
$$

where

$$
\begin{equation*}
\phi_{p}(a, c ; z)=\sum_{k=0}^{\infty} \frac{(a)_{k}}{(c)_{k}} z^{k+p} \tag{1.2}
\end{equation*}
$$

and $(\lambda)_{k}$ is the Pochhammer symbol defined by

$$
(\lambda)_{k}:= \begin{cases}1, & (k=0) \\ \lambda(\lambda+1) \cdots(\lambda+k-1), & (k \in \mathbb{N})\end{cases}
$$

In 2004, Cho et al. [1] introduced the following family of linear operators $\mathcal{I}_{p}^{\lambda}(a, c)$ analogous to $\mathcal{L}_{p}(a, c)$ :

$$
\mathcal{I}_{p}^{\lambda}(a, c): \mathcal{A}_{p} \longrightarrow \mathcal{A}_{p},
$$

which is defined as
$\mathcal{I}_{p}^{\lambda}(a, c) f(z):=\phi_{p}^{\dagger}(a, c ; z) * f(z) \quad\left(a, c \in \mathbb{R} \backslash \mathbb{Z}_{0}^{-} ; \lambda>-p ; z \in \mathbb{U} ; f \in \mathcal{A}_{p}\right)$,
where $\phi_{p}^{\dagger}(a, c ; z)$ is the function defined in terms of the Hadamard product (or convolution) by the following condition:

$$
\begin{equation*}
\phi_{p}(a, c ; z) * \phi_{p}^{\dagger}(a, c ; z)=\frac{z^{p}}{(1-z)^{\lambda+p}} . \tag{1.4}
\end{equation*}
$$

We can easily find from (1.2), (1.3) and (1.4) that

$$
\begin{equation*}
\mathcal{I}_{p}^{\lambda}(a, c) f(z)=z^{p}+\sum_{k=1}^{\infty} \frac{(\lambda+p)_{k}(c)_{k}}{k!(a)_{k}} a_{k+p} z^{k+p} \quad(z \in \mathbb{U} ; \lambda>-p) \tag{1.5}
\end{equation*}
$$

It is also readily verified from (1.5) that

$$
\begin{equation*}
z\left(\mathcal{I}_{p}^{\lambda}(a+1, c) f\right)^{\prime}(z)=a \mathcal{I}_{p}^{\lambda}(a, c) f(z)-(a-p) \mathcal{I}_{p}^{\lambda}(a+1, c) f(z) \tag{1.6}
\end{equation*}
$$

and

$$
\begin{equation*}
z\left(\mathcal{I}_{p}^{\lambda}(a, c) f\right)^{\prime}(z)=(\lambda+p) \mathcal{I}_{p}^{\lambda+1}(a, c) f(z)-\lambda \mathcal{I}_{p}^{\lambda}(a, c) f(z) \tag{1.7}
\end{equation*}
$$

Also by definition and specializing the parameters $\lambda, a, c$, we obtain

$$
\mathcal{I}_{p}^{1}(p+1,1) f(z)=f(z), \quad \mathcal{I}_{p}^{1}(p, 1) f(z)=\frac{z f^{\prime}(z)}{p},
$$

and

$$
\mathcal{I}_{p}^{n}(a, a) f(z)=\mathcal{D}^{n+p-1} f(z) \quad(n>-p)
$$

where $\mathcal{D}^{n+p-1}$ is the well-known Ruscheweyh derivative of $(n+p-1)$-th order.
For two functions $f$ and $g$, analytic in $\mathbb{U}$, we say that the function $f$ is subordinate to $g$ in $\mathbb{U}$, and write

$$
f(z) \prec g(z) \quad(z \in \mathbb{U})
$$

if there exists a Schwarz function $\omega(z)$, which is analytic in $\mathbb{U}$ with

$$
\omega(0)=0 \quad \text { and } \quad|\omega(z)|<1 \quad(z \in \mathbb{U})
$$

such that

$$
f(z)=g(\omega(z)) \quad(z \in \mathbb{U})
$$

Indeed it is known that

$$
f(z) \prec g(z) \quad(z \in \mathbb{U}) \Longrightarrow f(0)=g(0) \quad \text { and } \quad f(\mathbb{U}) \subset g(\mathbb{U}) .
$$

Furthermore, if the function $g$ is univalent in $\mathbb{U}$, then we have the following equivalence:

$$
f(z) \prec g(z) \quad(z \in \mathbb{U}) \Longleftrightarrow f(0)=g(0) \quad \text { and } \quad f(\mathbb{U}) \subset g(\mathbb{U})
$$

By making use of Cho-Kwon-Srivastava operator $\mathcal{I}_{p}^{\lambda}(a, c)$ and the abovementioned principle of subordination between analytic functions, we now introduce and investigate the following subclass of $p$-valent non-Bazilevič functions.

Definition 1. A function $f \in \mathcal{A}_{p}$ is said to be in the class $\mathcal{N}_{p, \lambda}^{\alpha, \mu}(a, c ; A, B)$ if it satisfies the following inequality:

$$
\begin{align*}
& (1+\alpha)\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\mu}-\alpha\left(\frac{\mathcal{I}_{p}^{\lambda+1}(a, c) f(z)}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\mu} \\
\prec & \frac{1+A z}{1+B z} \quad(z \in \mathbb{U}), \tag{1.8}
\end{align*}
$$

where (throughout this paper without any special remark)
$0<\mu<1 ; \alpha \in \mathbb{C} ; a, c \in \mathbb{R} \backslash \mathbb{Z}_{0}^{-} ; \lambda>-p ;-1 \leqq B \leqq 1 ; \mathbb{R} \ni A \neq B$ and $p \in \mathbb{N}$, and the powers are understood as principle values.

Clearly, if we set $\lambda=0, \alpha=B=-1$ and $p=a=c=A=1$ in the class $\mathcal{N}_{p, \lambda}^{\alpha, \mu}(a, c ; A, B)$, then it reduces to the class $\mathcal{N}(\mu)$ of non-Bazilevič functions.

In the present paper, we aim at proving such results as subordination and superordination properties, convolution properties, coefficient estimates, sufficient conditions for starlikeness and sufficient conditions for functions belonging to the class $\mathcal{N}_{p, \lambda}^{\alpha, \mu}(a, c ; A, B)$.

## 2. Preliminary Results

To derive our main results, we need the following lemmas.
Lemma 1. (Jack's lemma [2]) Let $\omega(z)$ be a non-constant analytic function in $\mathbb{U}$ with $w(0)=0$. If $|\omega(z)|$ attains its maximum value on the circle $|z|=r<1$ at $z_{0}$, then

$$
z_{0} \omega^{\prime}\left(z_{0}\right)=k \omega\left(z_{0}\right)
$$

where $k \geqq 1$ is a real number.
Lemma 2. (see [11]) Let $q$ be a convex univalent function in $\mathbb{U}$ and let $\delta, \gamma \in \mathbb{C}$ with

$$
\Re\left(1+\frac{z q^{\prime \prime}(z)}{q^{\prime}(z)}\right)>\max \left\{0,-\Re\left(\frac{\delta}{\gamma}\right)\right\}
$$

If $p(z)$ is analytic in $\mathbb{U}$ and

$$
\delta p(z)+\gamma z p^{\prime}(z) \prec \delta q(z)+\gamma z q^{\prime}(z)
$$

then $p(z) \prec q(z)$ and $q$ is the best dominant.
Denote by $Q$ the set of all functions $f$ that are analytic and injective on $\overline{\mathbb{U}}-E(f)$, where

$$
E(f)=\left\{\varepsilon \in \partial \mathbb{U}: \lim _{z \rightarrow \varepsilon} f(z)=\infty\right\}
$$

and such that $f^{\prime}(\varepsilon) \neq 0$ for $\varepsilon \in \partial \mathbb{U}-E(f)$.
Lemma 3. (see [4]) Let $q$ be convex univalent in $\mathbb{U}$ and $\kappa \in \mathbb{C}$. Further assume that $\Re(\bar{\kappa})>0$. If

$$
p(z) \in \mathcal{H}[q(0), 1] \cap Q
$$

and $p(z)+\kappa z p^{\prime}(z)$ is univalent in $\mathbb{U}$, then

$$
q(z)+\kappa z q^{\prime}(z) \prec p(z)+\kappa z p^{\prime}(z)
$$

implies $q(z) \prec p(z)$ and $q$ is the best dominant.

Lemma 4. (see [3]) Let

$$
k(z)=1+c_{1} z+c_{2} z^{2}+\cdots
$$

be analytic in $\mathbb{U}, h(z)$ be analytic and convex (univalent) in $\mathbb{U}$ with $h(0)=1$. If

$$
\begin{equation*}
k(z)+\frac{z k^{\prime}(z)}{\zeta} \prec h(z) \quad(\Re(\zeta)>0 ; \zeta \neq 0 ; z \in \mathbb{U}) \tag{2.1}
\end{equation*}
$$

then

$$
k(z) \prec \chi(z)=\zeta z^{-\zeta} \int_{0}^{z} t^{\zeta-1} h(t) d t \prec h(z) \quad(z \in \mathbb{U}),
$$

and $\chi(z)$ is the best dominant of (2.1).
Lemma 5. (see [8]) Let

$$
f(z)=\sum_{k=0}^{\infty} a_{k} z^{k}
$$

be analytic in $\mathbb{U}$ and

$$
g(z)=\sum_{k=0}^{\infty} b_{k} z^{k}
$$

be analytic and convex in $\mathbb{U}$. If $f \prec g$, then

$$
\left|a_{k}\right| \leqq\left|b_{1}\right| \quad(k \in \mathbb{N})
$$

## 3. Main Results

We begin by stating the following result with the aid of Jack's lemma.
Theorem 1. Let $f \in \mathcal{A}_{p}, \xi \in \mathbb{C} \backslash\{0\}$ and $0 \leqq \beta<1$. Also let the function $\varphi$ be defined by

$$
\begin{equation*}
\varphi(z)=\frac{z\left(\left(\frac{\mathcal{I}_{p}^{\lambda+1}(a, c) f(z)}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\mu}-1\right)^{\prime}}{\left(\frac{\mathcal{T}_{p}^{\lambda+1}(a, c) f(z)}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\mu}-1} \quad(z \in \mathbb{U}) . \tag{3.1}
\end{equation*}
$$

If $\varphi(z)$ satisfies one of the following conditions:

$$
\Re(\varphi(z)) \begin{cases}<\frac{1}{|\xi|^{2}} \Re(\xi) & (\Re(\xi)>0)  \tag{3.2}\\ \neq 0 & (\Re(\xi)=0) \\ >\frac{1}{|\xi|^{2}} \Re(\xi) & (\Re(\xi)<0)\end{cases}
$$

or

$$
\Im(\varphi(z)) \begin{cases}>-\frac{1}{|\xi|^{2}} \Im(\xi) & (\Im(\xi)>0)  \tag{3.3}\\ \neq 0 & (\Im(\xi)=0) \\ <-\frac{1}{|\xi|^{2}} \Im(\xi) & (\Im(\xi)<0)\end{cases}
$$

then

$$
\begin{equation*}
\left|\left(\left(\frac{\mathcal{I}_{p}^{\lambda+1}(a, c) f(z)}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\mu}-1\right)^{\xi}\right|<1-\beta . \tag{3.4}
\end{equation*}
$$

Proof. We define the function $\phi$ by

$$
\begin{gather*}
\left(\left(\frac{\mathcal{I}_{p}^{\lambda+1}(a, c) f(z)}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\mu}-1\right)^{\xi}=(1-\beta) \phi(z)  \tag{3.5}\\
(0 \leqq \beta<1 ; \xi \in \mathbb{C} \backslash\{0\} ; z \in \mathbb{U})
\end{gather*}
$$

It is easy to see that the function $\phi$ is analytic in $\mathbb{U}$ with $\phi(0)=0$.
Differentiating both sides of (3.5) with respect to $z$ logarithmically, we get

$$
\begin{equation*}
\frac{z \phi^{\prime}(z)}{\phi(z)}=\xi \frac{z\left(\left(\frac{\mathcal{I}_{p}^{\lambda+1}(a, c) f(z)}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)\left(\frac{z^{p}}{\mathcal{I}_{\hat{p}}^{\lambda}(a, c) f(z)}\right)^{\mu}-1\right)^{\prime}}{\left(\frac{\mathcal{I}_{p}^{\lambda+1}(a, c) f(z)}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\mu}-1} \quad(z \in \mathbb{U} ; \xi \in \mathbb{C} \backslash\{0\}) \tag{3.6}
\end{equation*}
$$

We now consider the function $\varphi$ defined by

$$
\begin{equation*}
\varphi(z):=\frac{\bar{\xi}}{|\xi|^{2}} \frac{z \phi^{\prime}(z)}{\phi(z)} \quad(z \in \mathbb{U} ; \xi \in \mathbb{C} \backslash\{0\}) \tag{3.7}
\end{equation*}
$$

Assume that there exists a point $z_{0} \in \mathbb{U}$ such that

$$
\max _{|z| \leqq z_{0} \mid}|\phi(z)|=\left|\phi\left(z_{0}\right)\right|=1,
$$

by Lemma 1, we know that

$$
\begin{equation*}
z_{0} \phi^{\prime}\left(z_{0}\right)=k \phi\left(z_{0}\right) \quad(k \geqq 1) \tag{3.8}
\end{equation*}
$$

It follows from (3.7) and (3.8) that

$$
\begin{align*}
\Re\left(\varphi\left(z_{0}\right)\right)= & \Re\left(\frac{\bar{\xi}}{|\xi|^{2}} \frac{z \phi^{\prime}\left(z_{0}\right)}{\phi\left(z_{0}\right)}\right)=\frac{k}{|\xi|^{2}} \Re(\bar{\xi}) \\
& =\frac{k}{|\xi|^{2}} \Re(\xi) \begin{cases}\geqq \frac{1}{|\xi|^{2}} \Re(\xi) & (\Re(\xi)>0) \\
=0 & (\Re(\xi)=0) \\
\leqq \frac{1}{|\xi|^{2}} \Re(\xi) & (\Re(\xi)<0),\end{cases} \tag{3.9}
\end{align*}
$$

and

$$
\begin{align*}
\Im\left(\varphi\left(z_{0}\right)\right) & =\Im\left(\frac{\bar{\xi}}{|\xi|^{2}} \frac{z \phi^{\prime}\left(z_{0}\right)}{\phi\left(z_{0}\right)}\right)=\frac{k}{|\xi|^{2}} \Im(\bar{\xi}) \\
& =-\frac{k}{|\xi|^{2}} \Im(\xi) \begin{cases}\leqq-\frac{1}{|\xi|^{2}} \Im(\xi) & (\Im(\xi)>0), \\
=0 & (\Im(\xi)=0), \\
\geqq-\frac{1}{|\xi|^{2}} \Im(\xi) & (\Im(\xi)<0)\end{cases} \tag{3.10}
\end{align*}
$$

But the inequalities in (3.9) and (3.10) contradict, respectively, the inequalities in (3.2) and (3.3). Therefore, we can conclude that

$$
|\phi(z)|<1 \quad(z \in \mathbb{U})
$$

which implies that

$$
\left|\left(\left(\frac{\mathcal{I}_{p}^{\lambda+1}(a, c) f(z)}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\mu}-1\right)^{\xi}\right|=(1-\beta)|\phi(z)|<1-\beta .
$$

We thus complete the proof of Theorem 1.
By specializing the parameters $\xi, \beta, p, a$ and $c$, some interesting corollaries of Theorem 1 are presented as follows.

Corollary 1. Let $f \in \mathcal{A}_{p}, \xi \in \mathbb{R} \backslash\{0\}$ and $0 \leqq \beta<1$. Also let the function $\varphi$ be defined by (3.1). If $\varphi$ satisfies one of the following conditions:

$$
\Re(\varphi(z))\left\{\begin{array}{ll}
<\frac{1}{\xi} & (\xi>0), \\
>-\frac{1}{\xi} & (\xi<0),
\end{array} \quad \text { or } \quad \Im(\varphi(z)) \neq 0\right.
$$

then

$$
\left|\left(\left(\frac{\mathcal{I}_{p}^{\lambda+1}(a, c) f(z)}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\mu}-1\right)^{\xi}\right|<1-\beta .
$$

Corollary 2. Let $f \in \mathcal{A}_{p}, \xi=1$ and $0 \leqq \beta<1$. Also let the function $\varphi$ be defined by (3.1). If $\varphi$ satisfies one of the following conditions:

$$
\Re(\varphi(z))<1 \quad \text { or } \quad \Im(\varphi(z)) \neq 0
$$

then

$$
f \in \mathcal{N}_{p, \lambda}^{-1, \mu}(a, c ; 1 ; 1-2 \beta,-1)
$$

Corollary 3. Let $f \in \mathcal{A}, \lambda=\beta=0$ and $p=a=c=\xi=1$. Also let the function $\varphi$ be defined by (3.1). If $\varphi$ satisfies one of the following conditions:

$$
\Re(\varphi(z))<1 \quad \text { or } \quad \Im(\varphi(z)) \neq 0
$$

then

$$
f \in \mathcal{N}(\mu)
$$

Theorem 2. Let $q$ be univalent in $\mathbb{U}, \alpha \in \mathbb{C}$. Suppose also that $q$ satisfies

$$
\begin{equation*}
\Re\left(1+\frac{z q^{\prime \prime}(z)}{q^{\prime}(z)}\right)>\max \left\{0,-\Re\left(\frac{(\lambda+p) \mu}{\alpha}\right)\right\} \tag{3.11}
\end{equation*}
$$

If $f \in \mathcal{A}_{p}$ satisfies the following subordination
$(1+\alpha)\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\mu}-\alpha\left(\frac{\mathcal{I}_{p}^{\lambda+1}(a, c) f(z)}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\mu} \prec q(z)+\frac{\alpha z q^{\prime}(z)}{(\lambda+p) \mu}$,
then

$$
\begin{equation*}
\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\mu} \prec q(z), \tag{3.12}
\end{equation*}
$$

and $q$ is the best dominant.

Proof. Define the function $p(z)$ by

$$
\begin{equation*}
p(z):=\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\mu} \quad(z \in \mathbb{U}) . \tag{3.13}
\end{equation*}
$$

By taking the derivatives in the both sides of equality (3.13), we get

$$
\begin{equation*}
(1+\alpha)\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\mu}-\alpha\left(\frac{\mathcal{I}_{p}^{\lambda+1}(a, c) f(z)}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\mu}=p(z)+\frac{\alpha z p^{\prime}(z)}{(\lambda+p) \mu} . \tag{3.14}
\end{equation*}
$$

Combining (3.12) and (3.14), we find that

$$
\begin{equation*}
p(z)+\frac{\alpha z p^{\prime}(z)}{(\lambda+p) \mu} \prec q(z)+\frac{\alpha z q^{\prime}(z)}{(\lambda+p) \mu} . \tag{3.15}
\end{equation*}
$$

With an application of Lemma 2 to (3.15), we can easily get the assertion of Theorem 2.

Taking $q(z)=\frac{1+A z}{1+B z}$ in Theorem 2, we can get the following result.
Corollary 4. Let $\alpha \in \mathbb{C}$ and $-1 \leqq B<A \leqq 1$. Suppose also that $\frac{1+A z}{1+B z}$ satisfies the condition (3.11). If $f \in \mathcal{A}_{p}$ satisfies the following subordination

$$
\begin{aligned}
(1+ & \alpha)\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\mu}-\alpha\left(\frac{\mathcal{I}_{p}^{\lambda+1}(a, c) f(z)}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\mu} \\
& \prec \frac{1+A z}{1+B z}+\frac{\alpha(A-B) z}{(\lambda+p) \mu(1+B z)^{2}},
\end{aligned}
$$

then

$$
\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\mu} \prec \frac{1+A z}{1+B z},
$$

and $\frac{1+A z}{1+B z}$ is the best dominant.
If $f$ is subordinate to $F$, then $F$ is superordinate to $f$. We now derive the following superordination result for the class $\mathcal{N}_{p, \lambda}^{\alpha, \mu}(a, c ; A, B)$.

Theorem 3. Let $q$ be convex univalent in $\mathbb{U}, \alpha \in \mathbb{C}$ with $\Re(\alpha)>0$. Also let

$$
\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\mu} \in \mathcal{H}[q(0), 1] \cap Q
$$

and

$$
(1+\alpha)\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\mu}-\alpha\left(\frac{\mathcal{I}_{p}^{\lambda+1}(a, c) f(z)}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\mu}
$$

be univalent in $\mathbb{U}$. If
$q(z)+\frac{\alpha z q^{\prime}(z)}{(\lambda+p) \mu} \prec(1+\alpha)\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\mu}-\alpha\left(\frac{\mathcal{I}_{p}^{\lambda+1}(a, c) f(z)}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\mu}$,
then

$$
q(z) \prec\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\mu},
$$

and $q$ is the best dominant.
Proof. Let the function $p(z)$ be defined by (3.13). Then

$$
\begin{aligned}
q(z)+\frac{\alpha z q^{\prime}(z)}{(\lambda+p) \mu} & \prec(1+\alpha)\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\mu}-\alpha\left(\frac{\mathcal{I}_{p}^{\lambda+1}(a, c) f(z)}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\mu} \\
& =p(z)+\frac{\alpha z p^{\prime}(z)}{(\lambda+p) \mu}
\end{aligned}
$$

An application of Lemma 3 yields the assertion of Theorem 3.
Taking $q(z)=\frac{1+A z}{1+B z}$ in Theorem 3, we can get the following corollary.
Corollary 5. Let $q$ be convex univalent in $\mathbb{U}$ and $-1 \leqq B<A \leqq 1, \alpha \in \mathbb{C}$ with $\Re(\alpha)>0$. Also let

$$
\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\beta} \in \mathcal{H}[q(0), 1] \cap Q
$$

and

$$
(1+\alpha)\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\mu}-\alpha\left(\frac{\mathcal{I}_{p}^{\lambda+1}(a, c) f(z)}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\mu}
$$

be univalent in $\mathbb{U}$. If

$$
\begin{aligned}
& \frac{1+A z}{1+B z}+\frac{\alpha(A-B) z}{(\lambda+p) \mu(1+B z)^{2}} \\
& \quad \prec(1+\alpha)\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\mu}-\alpha\left(\frac{\mathcal{I}_{p}^{\lambda+1}(a, c) f(z)}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\mu}
\end{aligned}
$$

then

$$
\frac{1+A z}{1+B z} \prec\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\mu},
$$

and $\frac{1+A z}{1+B z}$ is the best dominant.
Combining the above results of subordination and superordination. we can easily get the following "Sandwich results".

Corollary 6. Let $q_{1}$ be convex univalent and let $q_{2}$ be univalent in $\mathbb{U}, \alpha \in \mathbb{C}$ with $\Re(\alpha)>0$. Let $q_{2}$ satisfies (3.11). If

$$
0 \neq\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\mu} \in \mathcal{H}[q(0), 1] \cap Q
$$

and

$$
(1+\alpha)\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\mu}-\alpha\left(\frac{\mathcal{I}_{p}^{\lambda+1}(a, c) f(z)}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\mu}
$$

is univalent in $\mathbb{U}$, also

$$
\begin{aligned}
q_{1}(z)+\frac{\alpha z q_{1}^{\prime}(z)}{(\lambda+p) \mu} & \prec(1+\alpha)\left(\frac{z^{p}}{\mathcal{I}_{p, n}^{\lambda}(a, c) f(z)}\right)^{\mu}-\alpha\left(\frac{\mathcal{I}_{p}^{\lambda+1}(a, c) f(z)}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\mu} \\
& =q_{2}(z)+\frac{\alpha z q_{2}^{\prime}(z)}{(\lambda+p) \mu}
\end{aligned}
$$

then

$$
q_{1}(z) \prec\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\mu} \prec q_{2}(z),
$$

and $q_{1}$ and $q_{2}$ are, respectively, the best subordinant and dominant.
Theorem 4. Let $f \in \mathcal{N}_{p, \lambda}^{\alpha, \mu}(a, c ; A, B)$ with $\Re(\alpha)>0$. Then

$$
\begin{equation*}
f(z)=\left(z^{p}\left(\frac{1+A \omega(z)}{1+B \omega(z)}\right)^{-\frac{1}{\mu}}\right) *\left(z^{p}+\sum_{k=1}^{\infty} \frac{k!(a)_{k}}{(\lambda+p)_{k}(c)_{k}} z^{k+p}\right) \tag{3.16}
\end{equation*}
$$

where $\omega$ is analytic in $\mathbb{U}$ with

$$
\omega(0)=0 \quad \text { and } \quad|\omega(z)|<1 \quad(z \in \mathbb{U})
$$

Proof. Suppose that $f \in \mathcal{N}_{p, \lambda}^{\alpha, \mu}(a, c ; A, B)$ with $\Re(\alpha)>0$ and $p(z)$ is defined by (3.13). By taking the derivatives in the both sides in equality (3.13) and using (1.7), we get

$$
\begin{align*}
(1+ & \alpha)\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\mu}-\alpha\left(\frac{\mathcal{I}_{p}^{\lambda+1}(a, c) f(z)}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\mu}  \tag{3.17}\\
& =p(z)+\frac{\alpha z p^{\prime}(z)}{(\lambda+p) \mu} \prec \frac{1+A z}{1+B z} \quad(z \in \mathbb{U}) .
\end{align*}
$$

An application of Lemma 4 to (3.17) yields

$$
\begin{align*}
\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\mu} & \prec \frac{(\lambda+p) \mu}{\alpha} z^{-\frac{(\lambda+p) \mu}{\alpha}} \int_{0}^{z} t^{\frac{(\lambda+p) \mu}{\alpha}-1} \frac{1+A t}{1+B t} d t \\
& =\frac{(\lambda+p) \mu}{\alpha} \int_{0}^{1} t^{\frac{(\lambda+p) \mu}{\alpha}-1} \frac{1+A z u}{1+B z u} d u \prec \frac{1+A z}{1+B z} \quad(z \in \mathbb{U}) . \tag{3.18}
\end{align*}
$$

It now follows from (3.18) that

$$
\begin{equation*}
\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\mu}=\frac{1+A \omega(z)}{1+B \omega(z)} \tag{3.19}
\end{equation*}
$$

where $\omega$ is analytic in $\mathbb{U}$ with

$$
\omega(0)=0 \quad \text { and } \quad|\omega(z)|<1 \quad(z \in \mathbb{U})
$$

By (3.19), we easily find that

$$
\begin{equation*}
\mathcal{I}_{p}^{\lambda}(a, c) f(z)=z^{p}\left(\frac{1+A \omega(z)}{1+B \omega(z)}\right)^{-\frac{1}{\mu}} \tag{3.20}
\end{equation*}
$$

Combining (1.3), (1.5) and (3.20), we have

$$
\begin{equation*}
\left(z^{p}+\sum_{k=1}^{\infty} \frac{(\lambda+p)_{k}(c)_{k}}{k!(a)_{k}} z^{k+p}\right) * f(z)=z^{p}\left(\frac{1+A \omega(z)}{1+B \omega(z)}\right)^{-\frac{1}{\mu}} \tag{3.21}
\end{equation*}
$$

The assertion (3.16) of Theorem 4 can now easily be derived from (3.21).

Theorem 5. Let $f \in \mathcal{N}_{p, \lambda}^{\alpha, \mu}(a, c ; A, B)$ with $\Re(\alpha)>0$. Then

$$
\begin{gather*}
\frac{1}{z}\left[\left(1+A e^{i \theta}\right)^{\frac{1}{\mu}}\left(z^{p}+\sum_{k=1}^{\infty} \frac{(\lambda+p)_{k}(c)_{k}}{k!(a)_{k}} z^{k+p}\right) * f(z)-z^{p}\left(1+B e^{i \theta}\right)^{\frac{1}{\mu}}\right] \neq 0 \\
(z \in \mathbb{U} ; 0<\theta<2 \pi) \tag{3.22}
\end{gather*}
$$

Proof. Suppose that $f \in \mathcal{N}_{p, \lambda}^{\alpha, \mu}(a, c ; A, B)$ with $\Re(\alpha)>0$. We know that (3.18) holds true, which implies that

$$
\begin{equation*}
\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\mu} \neq \frac{1+A e^{i \theta}}{1+B e^{i \theta}} \quad(z \in \mathbb{U} ; 0<\theta<2 \pi) . \tag{3.23}
\end{equation*}
$$

It is easy to see that the condition (3.23) can be written as follows:

$$
\begin{equation*}
\frac{1}{z}\left[\mathcal{I}_{p}^{\lambda}(a, c) f(z)\left(1+A e^{i \theta}\right)^{\frac{1}{\mu}}-z^{p}\left(1+B e^{i \theta}\right)^{\frac{1}{\mu}}\right] \neq 0 \quad(z \in \mathbb{U} ; 0<\theta<2 \pi) \tag{3.24}
\end{equation*}
$$

Combining (1.3), (1.5) and (3.24), we can easily get the convolution property (3.22) asserted by Theorem 5.

Theorem 6. Let

$$
\begin{equation*}
f(z)=z^{p}+\sum_{k=n}^{\infty} a_{p+k} z^{p+k} \in \mathcal{N}_{p, \lambda}^{\alpha, \mu}(a, c ; A, B) \tag{3.25}
\end{equation*}
$$

Then

$$
\begin{equation*}
\left|a_{p+n}\right| \leqq \frac{(\lambda+p) n!(a)_{n}}{(\lambda+p)_{n}(c)_{n}}\left|\frac{A-B}{(\lambda+p) \mu+n \alpha}\right| . \tag{3.26}
\end{equation*}
$$

The inequality (3.26) is sharp.
Proof. Combining (1.8) and (3.25), we can get

$$
\begin{align*}
(1+ & \alpha)\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\mu}-\alpha\left(\frac{\mathcal{I}_{p}^{\lambda+1}(a, c) f(z)}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)\left(\frac{z^{p}}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}\right)^{\mu}  \tag{3.27}\\
& =1-\left(1+\frac{n \alpha}{(\lambda+p) \mu}\right) \frac{(\lambda+p)_{n}(c)_{n}}{n!(a)_{n}} \mu a_{p+n} z^{n}+\cdots \prec \frac{1+A z}{1+B z}
\end{align*}
$$

An application of Lemma 5 to (3.27) yields

$$
\begin{equation*}
\left|\left(1+\frac{n \alpha}{(\lambda+p) \mu}\right) \frac{(\lambda+p)_{n}(c)_{n}}{n!(a)_{n}} \mu a_{p+n}\right| \leqq|A-B| \tag{3.28}
\end{equation*}
$$

The inequality (3.26) can now easily be derived from (3.28). By noting that

$$
f(z)=z^{p}+\frac{(\lambda+p) n!(a)_{n}}{(\lambda+p)_{n}(c)_{n}} \frac{A-B}{(\lambda+p) \mu+n \alpha} z^{p+n}+\cdots \in \mathcal{N}_{p, \lambda}^{\alpha, \mu}(a, c ; A, B)
$$

we obtain that the inequality (3.26) is sharp. Theorem 6 is thus proved.
Theorem 7. Let $f \in \mathcal{N}_{p, \lambda}^{\alpha, \mu}(a, c ; A, 0)$ with

$$
A>0, \quad \Re(\alpha)>0 \quad \text { and } \quad|\alpha|\left(1+\Re\left(\frac{(\lambda+p) \mu}{\alpha}\right)\right)>A(\lambda+p) \mu
$$

Then

$$
\left|\frac{z\left(\mathcal{I}_{p}^{\lambda}(a, c) f\right)^{\prime}(z)}{\mathcal{I}_{p}^{\lambda}(a, c) f(z)}-p\right|<\frac{A(\lambda+p)\left[|\alpha|\left(1+\Re\left(\frac{(\lambda+p) \mu}{\alpha}\right)\right)+(\lambda+p) \mu\right]}{|\alpha|\left[|\alpha|\left(1+\Re\left(\frac{(\lambda+p) \mu}{\alpha}\right)\right)-A(\lambda+p) \mu\right]} .
$$

Proof. Let $p(z)$ be defined by (3.13). It follows from (3.17) that

$$
\begin{equation*}
p(z)+\frac{\alpha z p^{\prime}(z)}{(\lambda+p) \mu}=1+A \omega(z) \tag{3.29}
\end{equation*}
$$

where

$$
\omega(z)=\sum_{k=1}^{\infty} \omega_{k} z^{k}
$$

is analytic in $\mathbb{U}$ with

$$
|\omega(z)|<1 \quad(z \in \mathbb{U})
$$

From (3.29), we can get

$$
\begin{equation*}
p(z)=1+A \frac{(\lambda+p) \mu}{\alpha} \int_{0}^{1} t^{\frac{(\lambda+p) \mu}{\alpha}-1} \omega(t z) d t=1+A \frac{(\lambda+p) \mu}{\alpha} \sum_{k=1}^{\infty} \frac{1}{k+\frac{(\lambda+p) \mu}{\alpha}} \omega_{k} z^{k} . \tag{3.30}
\end{equation*}
$$

It follows from (3.30) that

$$
\begin{align*}
(z p(z))^{\prime}= & 1+A \frac{(\lambda+p) \mu}{\alpha} \sum_{k=1}^{\infty} \frac{k+1}{k+\frac{(\lambda+p) \mu}{\alpha}} \omega_{k} z^{k} \\
= & 1+A \frac{(\lambda+p) \mu}{\alpha} \sum_{k=1}^{\infty} \frac{1}{k+\frac{(\lambda+p) \mu}{\alpha}} \omega_{k} z^{k}  \tag{3.31}\\
& +A \frac{(\lambda+p) \mu}{\alpha}\left(\omega(z)-\frac{(\lambda+p) \mu}{\alpha} \int_{0}^{1} t^{\frac{(\lambda+p) \mu}{\alpha}-1} \omega(t z) d t\right) .
\end{align*}
$$

We now find from (3.30) and (3.31) that

$$
\begin{equation*}
z p^{\prime}(z)=A \frac{(\lambda+p) \mu}{\alpha}\left(\omega(z)-\frac{(\lambda+p) \mu}{\alpha} \int_{0}^{1} t^{\frac{(\lambda+p) \mu}{\alpha}-1} \omega(t z) d t\right) . \tag{3.32}
\end{equation*}
$$

Combining (3.30) and (3.32), we can get

$$
\begin{equation*}
\left|\frac{z p^{\prime}(z)}{p(z)}\right|<\frac{A(\lambda+p) \mu\left[|\alpha|\left(1+\Re\left(\frac{(\lambda+p) \mu}{\alpha}\right)\right)+(\lambda+p) \mu\right]}{|\alpha|\left[|\alpha|\left(1+\Re\left(\frac{(\lambda+p) \mu}{\alpha}\right)\right)-A(\lambda+p) \mu\right]} . \tag{3.33}
\end{equation*}
$$

The assertion of Theorem 7 can now easily be derived from (3.33).
Putting $\lambda=0$ and $p=a=c=1$ in Theorem 7, we get the following starlikeness criterion for non-Bazilevič functions.

Corollary 7. Suppose that

$$
(1+\alpha)\left(\frac{z}{f(z)}\right)^{\mu}-\alpha f^{\prime}(z)\left(\frac{z}{f(z)}\right)^{1+\mu} \prec 1+A z
$$

with

$$
A>0, \quad \Re(\alpha)>0 \quad \text { and } \quad|\alpha|\left(1+\Re\left(\frac{\mu}{\alpha}\right)\right)>A \mu
$$

Then

$$
\left|\frac{z f^{\prime}(z)}{f(z)}-1\right|<\frac{A\left[|\alpha|\left(1+\Re\left(\frac{\mu}{\alpha}\right)\right)+\mu\right]}{|\alpha|\left[|\alpha|\left(1+\Re\left(\frac{\mu}{\alpha}\right)\right)-A \mu\right]}
$$

## Acknowledgements

The present investigation was supported by the Scientific Research Fund of Hunan Provincial Education Department under Grant 08C118 of the People's Republic of China.

## References

[1] N. E. Cho, O. S. Kwon, and H. M. Srivastava, Inclusion relationships and argument properties for certain subclasses of multivalent functions associated with a family of linear operators, J. Math. Anal. Appl. 292 (2004), 470-483.
[2] I. S. Jack, Functions starlike and convex of order $\alpha$, J. London Math. Soc. 3 (1971), 469-474.
[3] S. S. Miller and P. T. Mocanu, Differential subordinations and univalent functions, Michigan Math. J. 28 (1981), 157-171.
[4] S. S. Miller and P. T. Mocanu, Subordinats of differential superordinations, Complex Var. 48 (2003), 815-826.
[5] M. Obradović, A class of univalent functions, Hokkaido Math. J. 27 (1998), 329-335.
[6] M. Obradović, A class of univalent functions II, Hokkaido Math. J. 28 (1999), 557-562.
[7] M. Obradović and S. Owa, Analytic functions of non-Bazilevič type and starlikeness, Int. J. Math, Math. Sci. 26 (2001), 701-706.
[8] W. Rogosinski, On the coefficients of subordinate functions, Proc. London Math. Soc. (Ser. 2) 48 (1943), 48-82.
[9] H. Saitoh, A linear operator and its applications of first order differential subordinations, Math. Japon. 44 (1996), 31-38.
[10] T. N. Shanmugam, M. P. Jeyaraman, and S. Sivasubramanian, Feketeszegö functional for some subclass of non-Bazilevič functions, J. Inequal. Pure Appl. Math. 7 (2006), Article 117, (electronic).
[11] T. N. Shanmugam, V. Ravichandran, and S. Sivasubramanian, Differential Sandwich theorems for subclasses of analytic functions, Australian J. Math. Anal. Appl. 3 (2006), Article 8, (electronic).
[12] T. N. Shanmugam, S. Sivasubramanian, M. Darus, and S. Kavitha, On Sandwich theorems for certain subclasses of non-Bazilevič functions involving Cho-Kim transformation, Complex Var. Elliptic Equ. 52 (2007), 1017-1028.
[13] T. N. Shanmugam, S. Sivasubramanian, B. A. Frasin, and S. Kavitha, On Sandwich theorems for certain subclasses of analytic functions involving Carlson-Shaffer operator, J. Korean Math. Soc. 45 (2008), 611-620.
[14] T. N. Shanmugam, S. Sivasubramanian and H. Silverman, On Sandwich theorems for some classes of analytic functions, Int. J. Math. Math. Sci. 2006 (2006), Article ID 29684, 1-13.
[15] N. Tuneski and M. Darus, Fekete-Szegö functional for non-Bazilevič functions, Acta Math. Acad. Paedagog. Nyházi. (N.S.) 18 (2002), 63-65.
[16] Z.-G. Wang, C.-Y. Gao, and M.-X. Liao, On certain generalized class of non-Bazilevič functions, Acta Math. Acad. Paedagog. Nyházi. (N.S.) 21 (2005), 147-154.


[^0]:    *2000 Mathematics Subject Classification. Primary 30C45; Secondary 30C80
    ${ }^{\dagger}$ Corresponding author. E-mail: zhigangwang@foxmail.com
    $\ddagger$ E-mail: wht-2001@163.com
    §E-mail: sy785153@126.com

